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Brønsted-Lowry Acids and Bases Section 2.7
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Ka and pKa Section 2.8
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HA(aq) H+(aq)  +  A–(aq)





 

Why Tables of pKa instead of Ka? The Henderson–Hasselbalch Equation Section 2.8
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pH = pKa + log
[A–]
[HA]

pKa = –log Ka





pKa of acetic acid is 4.74 


Why Tables of pKa instead of Ka? Buffers Section 2.8

5

pH = pKa + log
[A–]
[HA]





pKa of acetic acid is 4.74 


Why Tables of pKa instead of Ka? Buffers Section 2.8
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pKa of acetic acid is 4.20 


Why Tables of pKa instead of Ka? Solubility Section 2.8
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pKa of acetic acid is 4.20 


Why Tables of pKa instead of Ka? Solubility Section 2.8
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pH = pKa + log
[A–]
[HA]
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	 	 	 CH4


	 	 	 NH3


	 	 	 H2O


	 	 	 HF


pKa’s   CH4, ~50      NH3,  ~36      H2O, 15.6      HF, 3.18  

pKa -  Which is the strongest acid? Section 2.8
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pKa values from Organic Chemistry, 10th ed. McMurry, (2023) openstax. 

pKa -  Which is the stronger acid? Section 2.8
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phenylalanine

pKa = 1.83









	 	 	 	 	 	 	 


	 	 	     pKa = 2.87		 	 	 	 	 	 	 	 pKa = 2.87


pKa -  Which is the stronger acid? Section 2.8
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The one that leaves the more/most stable base behind 

Which is the acidic H+ in acetic acid (HC2H3O2)? Section 2.6 
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